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15 ÷ 5 =?



15 ÷ 5 = 3



𝟐𝟎 + 𝟕 =

1𝟎 − 𝟐 =

18 − 𝟔 =

𝟑𝟓 + 𝟓 =

𝟏𝟓 − 𝟔 =

20 - 9 =



𝟐𝟎 + 𝟕 = 𝟐𝟕

1𝟎 − 𝟐 = 𝟖

18 − 𝟔 = 𝟏𝟐

𝟑𝟓 + 𝟓 = 40

𝟏𝟓 − 𝟔 = 𝟗

20 - 9 = 𝟏𝟏



Can you name each of these 3D shapes?
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5p 20 x
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pence pounds

count up costs

change left



= £1



100p-50p=50p



100p-90p=10p



100p-5p=95p



80p

80p

£1

20p



25p

£1

75p



Challenge
Make up your own 

shop items and calculate the 
change you would get from £1.

Create your own shop at home 
and pretend you are the 

shopkeeper or the customer. 



35p




